4.  Consider the following problem.  As ever, there is at least as much concern about how systematically you consider the problem, systematically etc., than there is in your just getting an answer.  The emphasis here is in developing constraints on searches for possible arrangements.

	Fill in the circles above using the numbers 1 through 9 once each, where the sum along each of the five rows totals 17.


	


(A)  Some constraints can be found from the fact that the sum in each row must be 17.  Show how one or more of the properties of 17 can be used to develop constraints.

(B)  More constraints can come from the fact that all five rows total 17 each, which in a way appears to conflict fatally with use of the numbers 1-9 once each.  But in fact, opportunity in the form of constraints arises soon thereafter.    

(C)  More constraints emerge as the largest of 1-9 are considered, as well as when the smallest of 1-9 are considered.

